

- 1 -0

---

$$P = (Y + C + M) \cdot B$$

L

I

- 1 -

0-

$$Y = A + D$$

$$A = \frac{E - E_0 + K_1(E_k - E_{0k})}{26}$$

A  
A  
A  
A

7

-

$$E = L_1 + L_2$$

H

--5 2  
- - -

H

$$L_2 = 1.2 \cdot Z \cdot W \cdot T$$

H

P

|  |     |  |  |
|--|-----|--|--|
|  |     |  |  |
|  | - 5 |  |  |

|   |     |     |   |    |      |   |
|---|-----|-----|---|----|------|---|
| % | 1   | 2 - | - | 2- | 2 -- | 1 |
|   | - 1 | - 4 | - | -  | -    |   |

$$D = \frac{K_2 R - R_0}{2}$$

N

N

0-

$$A = \frac{E - (E_0 + E'_k) + K_1 [E_k - (E_{ok} + E'_k)]}{26}$$

A'

$$E'_k = \frac{R_0 - K_3 R}{R_0} \times E_0$$

$$D = 0$$

0-

$$A = 0$$

$$D = \frac{K_2 R - R_0 + R_1}{2}$$

N

$$R_1 = \frac{E_0 - E}{E_0} \times R_0$$

0

0-

$$A = \frac{E - [E_0 - (E_{k0} - E_k)]}{26}$$

$$D = \frac{K_2 R - R_0 + R_2}{2}$$

N

$$R_2 = \frac{E_{ok} - E_k}{E_0} \times R_0$$

1

$$A = \frac{E - E_0}{26}$$

$$D = \frac{K_2 R - R_0}{2}$$

C -I -1J L

E

E 1

H

|  |  |   |
|--|--|---|
|  |  | H |
|  |  | - |
|  |  | - |
|  |  | 1 |
|  |  | ) |
|  |  | ) |

|   |   |   |    |
|---|---|---|----|
| % |   |   |    |
|   | - | - | 1- |
|   | - | 1 | 1  |

$$M = Q \cdot \alpha + H \cdot \beta_1 \cdot \beta_2 + N \cdot \beta_1 \cdot \beta_2$$

M

D

J

M

|             |   |     |
|-------------|---|-----|
|             |   | +   |
| EJ A J PQNA |   | --  |
| E E EA      |   | -   |
| AE          | E | 0   |
|             |   |     |
|             |   |     |
|             |   | 1   |
| %           |   |     |
|             |   | -   |
|             |   | - 4 |

0

%

H

|  | D  |     |    |   |
|--|----|-----|----|---|
|  |    |     |    |   |
|  |    | 52- | 0- | - |
|  | 0- | -   | 2- | - |

---

1---

1 -

0

1

2

2-

2-

3

4

-

0)1

2

2

2

1

31 --

31

31